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No calculators may be used on this portion of the test.

Suppose the curve defined by the parameterization c(!) = (3f +3, 1" -8 ) . Answer the

following.

Find the slope o

f the curve for = 1.
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_ Find an equation for the line tangent to the curve » =3+2cosé at @ =—. Write your
-

d % answer in Cartesian form.
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Suppose the graph of 1'(9) =0cosf for 0 <@ <7 given at the
right. Answer the following.d
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Interpret your result for —

from #6 with respect to the curve. Explain your
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reasoning.
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Calculators may be used on this portion of the test.
Suppose a particle's velocity along a path is described by the vector v(1) = <21‘ -2, 1* =t 4) :
Answer the following. Show all steps in your work.

8. Calculate the speed of the partlc}e atz=0.1.
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Speed: dey ul ‘jﬂ - Jae- (L0 = 190003

9. Set up and evaluate an expression to find the total distance traveled by the particle on the
mtelval D=2, _
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[s the particle speedmg up or slowing down at time / = O 1?7 Justify your answer.
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Suppose a particle’s position along a path is described by the vector 7 (t) = <1 —sinf, cos() for

0 <t <2x . Answer the following. Show all steps in your work.
v -~

. Find 5 ad a(0). V()= (- 005t -sint >
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12. [s there a time for 0 </ <27 when the particle is not moving? If so, when? If not,
explain your reasoning.
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Answer the following. Be sure to include your set up'. ,\0 %&’

o 13.  Find the area enclosed by the inner loop of the curv7éeﬁned by r=1+ V2 cosd.
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14. Find the area of the region that lies inside both of the curves defined by r 4qm 0 and
r=1+sind. S
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